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number. Use marker or pen ink to fill the circles, Cutting or filling two or more circles will result In zero mark In that question.

;!a_gﬁl_.-;fcﬂ/ﬁtﬂjb:dﬂawé.,lza;m.u:u;fr:.‘.f{.:&.y&dfr,:{gé!'(}m..ugéfé__: D,C,B, A=zl Jirs 1 g

Note : Four possible cholces A,B,C,D to each question are given, Which cholce is correct, fill that circle In front of that question

a® - 3ab(a-b)-b° =07 | 14y

Xl @ o © -x @ X (A)

(a-8 @ -8 © (a+p)’ @ L4v’ @ M
Surds can be multiplied if they are of the : Do ufl:l-G‘ bl I Fple (2)
Order n ( n.2» (D) Different Orde__rwg Uznl® (C) Order 2 G (B) Same Order J 2oyt (A)

A Cubic Polynomial is of degree : L et ¥ GF Gue (3)
3 D)y 2 © 1 (B) 0 (A
fciorizalion of 1% o316 dn, : Cedfd K16l ()

(x-2)(x+4) () (x-2)(x+2)(x’ +4) © (x-4)(x +4) B) (x+2)(x-2) (A) _.

The number of methods to find the H.C.F. are . JIA;Juﬂf’éé_)f"}" f)?"" (5)
3 M 2 (© 1 B 4 (A
For cach number "x", the absolute value of " x " is denoted by : q_t/fglf g .-,-EJ“‘ G xn o £ (6)

The Symbol > stands for Coed il 3
Greater than or Equal to < sz l%« (B) Greater than alze (A)
Equal to  «4k& (D) Less than or Equal to cdeltd = ()
A Quadratic Equation has a degree : et an ¥ 2l ” (8)
3D 0 © 1 @ o2 :
A Lincar Equation in One Variable is of Degree b on K S L AL (9)
] | 3 (D) 0 (© 1 (B 2 (A
&8s Ul o 2 w8, (10)
!In a Square Matrix, the number of Rows and Columns is
| 2x1 (D) Same Ulf (O 3x2 (B) 2x3 ()
: ' FLU UnUE WS il 2 p L P s (11)
Two Matrices with the same order and equal corresponding elements are called
Unequal Matrices BsleF (D) Square Matrices /60!, (C) Diagonal Matrices 5% (B)Equal Matrices s (A)
- {The Sum of the Angles of a Triangle is : Poetn iy Ui £ ads (12)
360° D) 220° () 180° ® %° (A
The number of Altitudes in a Triangle is : g u éZ.:r Lin ot att (13)
_ it O 2 B 3 @)
Arca of a Square with Side " S " js I: .;I.rn Ji ¥ ﬂS ¥ d‘" ¥ df L (14)
S s 0 4 @ osw
Points lying on the same line are called : Y, P Pyt (_;,p_._: B (15)
Overlapping U7 (©) Equal $i- (©) Colliwar b5 (8) Non - Collinar s W |
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Note : It is compulsory to attempt (6 -- 6 ) parts each from Q.No.2, 3 and 4 and attempt any (03} questions
from Part Il. Write same Question No. and its Part No. as given in the question paper.
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(Part]) Jio ]

/; 36=2x18
e

If P(x)= 2x>+2%+x -1, then find P(-2).

What is meant by L.C.M.?
Iind H.C.F.

Find L.C.M.

Define Equation.

Solve by factorization, 2

Define Identity Matrix.

Find Transpose of Matrix A

Find x , y if

Define Complementary Angles.

Define Transversal.

Define Segment of a Circle,
Define Medians of a Triangle,
Define Direct Common Tangent.
Define Cuboid.

Define Hemisphere,

Find the

Locate the point (3,6) on the number plane,
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E Solve with the help of formulas : (5% + 3y)* + (5x - 3y)2 el ket N

E Simplify : (12 -2 (V20 - 3¥7) _4}; (i)

E Factorize. l(z - 81: -;,ffd); (iv)

5 Resolve into factors : X% + 6x + 9 e Az (v) )
E_' Factorize . X%+ 5x - 14 -&be G (vi) :

4abc3, 8a3bc, ﬁabgc

334b2c3 i 5a21:113c3

X" -dx-12 =0

Distance between the given pairs of Points (-1, 3).(-2,-1)

“Make diagram where necessary. ../ L-afgﬂndn/‘utﬁ

AP P(-2) dn P(x) = 2342 4x -1 S Gy 2]

teatpl e Fiobens (viiy

L A iy
L Fisens gx)
SIS e ) 34U

S ——

E- Solve. 5x - 6 = 4x - 2 -JAL G {
E Solve. |x+2]| =3 - .’;:,{J’ (iii) i
E Solve. 2% = 3 _J'/U’ (iv) :
b gave (2x+ 1)(5x - 4) = 0 A w

LS = 6F i)
A7 6 Y i)
L ik A T (viii)

;J Ayt y o x i)
S @ st fiaaliS ) 42w
el e wite )
Sestpl e B K W21 Gl

leorV e Gl alb (i)

e~ M 2 e e e, v

LS8 § e S )

LS vt iy

-yl S iy
s £ (-1,3),(-2,-1) 1L o

I ¢ 6 1 (3,6) 55 Gix)

et e e B i et B v
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Find the value of x3 + y3 when x + y = 7 and xy = 10

4 Tt e 8hn8 EE S s doma L & ()
3xt - 23 4 5x -6 4 x -1
Determine whether, the Second Polynomial is a factor of the
! First Polynomial without Division Method : 3t - 23 5x S 63 x-1
oy Fea1, Bl exe LhE Eoe B ) L7y 64

!

L)

. 4 . - 4 2 19 3 .
I Find IL.CF. by Division Method : Xotx+1 o x v+ x4 ox o+ ]
'

1

f
|

i x+4  x+1 +
1(4) Solve and Check. T T g - X 3 5 : F_-!f)rz ! c;.?:)" (&)
: .
' (4) 2% ax +1 = SV PN D ) 7/
' ]
. Solve by Completing the Squarec Method. 2x* - x +1 =0 !
| i
‘ . , |
@) ¥ X358 10 2 vl (L) i
' !
: Construct a Square whose One side is 3+5 cm, !
f
; g
) M M e M = [; :] A () 84t
1 !
LI M = [ ; : ] then find the value of M~ 1M ?
; !r
' !
' i
: 2 -3y = 1 i
) \ : , MM 3L IGuE L Gl () !
] X -J/y= i
: f
] Il
i - 1
. Solve the Simultancous Equations by the Matrix Inversion Method, 2% - 5Y = 1 !
3x -7y = 2 i
|
e LA ¥ e VLU 200 41 7150 ¢ ¢ 120 LUl Pt 1 (ih) 9|

Find the Area of g3 Triangle whose Sides are 120 cm, 150 em , 200 cm,
2L Qs 0 C(4,-9) B(-6,-3), A(-2,11) 46 S Srk ()
) gl L
Show that the points A{-Z,}l),B{-G,-S} and C(4,-9) are of
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! Note : Four possible choices A,B,C,D to each question are given, Which choice Is correct , fill that circle in front of that question
j number. Use marker or pen ink to fill the clrcles. Cutting or filling two or more circles vl result in zero mark In that question.
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a -b

Ao s AN SN AU, i AR W A .
ya = a is a Surd of Order :

P 0 e (a-bP @ (aeb) ) W

|
i!If two angles are Supplement of the same angle

. they are :

Coembn Ifu'b_“z

s 2
© A (B 32_r. (A)
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) parts each from Q.No.2 3 and 4 and attempt any {03) questions
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Note : It is compulsory to attempt (6.-6

from Part Il. Write same Question No, and jts Part No. as given in the question paper.

36=2x18

(Parti) d""'_’.;

LM&ke diagram where necessary. _ /' hL{';,deAﬁul,e l

! :
What is meant by Proper Rational Fraction?

Simplify,

Find P(1) if
Factorize,

Resolve into Factors :
Factorize ,

Find H.C.E,

Find L.CM. .

Find LCcM.
Define Linear Equation.
Solve,

Solve .

Solve by Factorization ,
Solve,

Solve by factorization,

Define Scalar Matrix,

Provethat A+B = B+A if

Find Determinant of A if

Define  Angle.

'E'rny( 20 b/d__ﬁju_ﬁﬁ?)f

8x3y2
125
P(x) = 9x3-2x2+3x+1
8- 4a-2a% 4 at
1- 14x + 49x2
x3+2?
Iiazbc,ZIabz
vz, xys xys?

21 a4x3y ., 35 azxiy , 28.':3)4)7‘l

X +20 = 44
3(x-2) < 2x 41
F - x-12 =

2x2-3x

2

XT-bx+5 =

-1 3 _| 4
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At e (1) aiy

-L8E vy

- &b dfiaz (v

~4':;/’ vi)

L e i

~dA Piienn; o

Lt Piions vy
-q/...y}J b W 34

~LAL

LA iy

~dAL SF i gy

LS

L SF s )

Ll 5K

2] /JA+BnB+Aq‘/;~,b(yﬂ;
A S o3 Sder a (ix)

LIS s Gy 4y
SNl U g Rl s 0 S )

If two angles are Complementary and the Jarger angle is four time bigger than smaller angle,

how many degrees are

Define Perpendicular Bisectors of the

there in each angle?

sides of a Triangle.

Define Tangent to the Circle.

If 30,72,78 represent the lengths of the

Define Area,

Locate the point (7,-5) on the fRumber plane,

Find the Distance between the

Find " x »

in the given Triangle,

feslshasar (15 Ust 78 sl

LD L e f (7,-5)

LI et £ Lt Lot iy

_qf..dj JJU’ ¥ 250 (iv)

72,30 LUl ot L,fr/q v)

UL S 5 i
& (vii)

LBy £ (a.-b),(b, -a) WL, v

Pairs of Points (a,-b),{b,-a}

-;{fr)""‘ 2 L of .:..J.‘-(f;‘: (ix)
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L (4) a2+b2+c2 =81 » a+b+c=11 é%?’#@ég;ab +be + ca (i)
¥ : ;

E’ Find the value of ab + bc + ca when a+b+c¢ =11 and

| i

i ZibP+ =8

i (4) Factorize. =58 -4 6f ()
%I .

! (4) Find H.CF. by Factorization Method. S ot dss L §F (N
1

t

' x3-—8,x2-7x4-10

T

E(d] Solve and Check also. 3+ ‘sz ~l=0 -qf d th »l Q/U' (&)
| (4) Solve using Quadratic Formula. ..U:/d' a ud J@u 23 ()

x(2x + 7)-3(2x+7)= 10
) un <3 a1 2FE el Ll 1oL et L ()

Construct a Rectangle whose adjacent sides are 4 cm and 3 cm.

(4) S3AE ANt =1 A = [‘i 2] A
5 4
If A = [; i] then verify AA™L = I
) 42y =10 pe mp L SR S udhea (L)

2y - 3x = -4

1
i
:
!
1
1
'
L]
:
¥
14
i
! Solve the Simultaneous Equations by the Matrix Inversion Method.
1

i

!

1

1

3x + 2y = 10
2y - 3x = -4
@ R 8g  23dug 24 SUS U E Ul L1 (D)

Find the Volume of a Rectangular Box with length 4 m, breath 3m

and height 2 m.
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! (4) L bB A C(7,3) # B(3,2), A(-1,1) 58 SY e (D)
1
i
!  Show that the points A(-1,1), B(3,2) and C(7.,3) are Collinear.
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